



Spectral Radius Inequalities for Functions of Operators Defined by Power Series

S.S. Dragomir^{a,b}

^aMathematics, School of Engineering & Science Victoria University, PO Box 14428 Melbourne City, MC 8001, Australia.

^bDST-NRF Centre of Excellence in the Mathematical and Statistical Sciences, School of Computer Science & Applied Mathematics, University of the Witwatersrand, Private Bag 3, Johannesburg 2050, South Africa

Abstract. By the help of power series $f(z) = \sum_{n=0}^{\infty} a_n z^n$ we can naturally construct another power series that has as coefficients the absolute values of the coefficients of f , namely $f_a(z) := \sum_{n=0}^{\infty} |a_n| z^n$. Utilising these functions we show among others that

$$r[f(T)] \leq f_a[r(T)]$$

where $r(T)$ denotes the spectral radius of the bounded linear operator T on a complex Hilbert space while $\|T\|$ is its norm. When we have A and B two commuting operators, then

$$r^2[f(AB)] \leq f_a(r^2(A)) f_a(r^2(B))$$

and

$$r[f(AB)] \leq \frac{1}{2} \left[f_a(\|AB\|) + f_a\left(\|A^2\|^{1/2} \|B^2\|^{1/2}\right) \right].$$

1. Introduction

Let $B(H)$ denote the algebra of all bounded linear operators on a complex Hilbert space H . For an operator $T \in B(H)$, let $r(T)$ and $\|T\|$ denote the *spectral radius* and the usual *operator norm* of A , respectively. It is well known that for every $T \in B(H)$, we have the fundamental inequality

$$r(T) \leq \|T\| \tag{1}$$

and that equality holds in the inequality (1) if T is normal.

In addition to the inequality (1), the most important properties of the spectral radius are the *spectral radius formula*

$$r(T) = \lim_{n \rightarrow \infty} \|T^n\|^{1/n}, \tag{2}$$

2010 *Mathematics Subject Classification.* Primary 47A63; Secondary 47A99.

Keywords. Bounded linear operators; Functions of operators; Numerical radius; Power series.

Received: 11 August 2014; Accepted: 02 May 2015

Communicated by Dragan S. Djordjević

Email address: sever.dragomir@vu.edu.au (<http://rgmia.org/dragomir>) (S.S. Dragomir)

a special case of the *spectral mapping theorem*, which asserts that

$$r(T^m) = r^m(T) \quad (3)$$

for every natural number m , and the *commutativity property*, which asserts that

$$r(AB) = r(BA) \text{ for every } A, B \in B(H). \quad (4)$$

It follows from the spectral radius formula (2) that if $A, B \in B(H)$ are *commutative* then the following *subadditivity*

$$r(A + B) \leq r(A) + r(B) \quad (5)$$

and *submultiplicativity*

$$r(AB) \leq r(A)r(B) \quad (6)$$

properties hold.

For additional properties of the spectral radius, the reader is referred to the classical book [3] and the papers [5]-[14].

There are simple examples, see for instance [4], showing that the properties (5) and (6) are not true for non-commutative operators A and B .

In [4] the author has proved the following inequality

$$\begin{aligned} r(AB \pm BA) & \\ & \leq \frac{1}{2} \left(\|AB\| + \|BA\| + \sqrt{(\|AB\| - \|BA\|)^2 + 4\|A^2\|\|B^2\|} \right) \end{aligned} \quad (7)$$

for any $A, B \in B(H)$.

If A and B are commutative, then from (7) we get

$$r(AB) \leq \frac{1}{2} \left(\|AB\| + \|A^2\|^{1/2} \|B^2\|^{1/2} \right), \quad (8)$$

which is of interest in itself and also has some nice applications for functions of operators as follows.

In the same paper [4], the author also provided the inequality below

$$\begin{aligned} r(AB \pm BA) & \leq \|AB\| + \min \left\{ \|A\|^{1/2} \|AB^2\|^{1/2}, \|A^2B\|^{1/2} \|B\|^{1/2} \right\} \\ & \leq \|AB\| + \begin{cases} \|A\|^{1/2} \|B\|^{1/2} \|AB\|^{1/2}, \\ \min \left\{ \|A\| \|B^2\|^{1/2}, \|A^2\|^{1/2} \|B\| \right\}, \end{cases} \end{aligned} \quad (9)$$

which produces in the case of commutative A and B the string of inequalities that are also useful in what follows:

$$\begin{aligned} r(AB) & \leq \frac{1}{2} \left[\|AB\| + \min \left\{ \|A\|^{1/2} \|AB^2\|^{1/2}, \|A^2B\|^{1/2} \|B\|^{1/2} \right\} \right] \\ & \leq \frac{1}{2} \|AB\| + \frac{1}{2} \times \begin{cases} \|A\|^{1/2} \|B\|^{1/2} \|AB\|^{1/2}, \\ \min \left\{ \|A\| \|B^2\|^{1/2}, \|A^2\|^{1/2} \|B\| \right\}. \end{cases} \end{aligned} \quad (10)$$

Motivated by the above results we establish in this paper some inequalities for the spectral radius of functions of operators defined by power series, which incorporate many fundamental functions of interest such as the exponential function, some trigonometric functions, the functions $f(z) = (1 \pm z)^{-1}$, $g(z) = \log(1 \pm z)^{-1}$ and others. Some examples of interest are also provided.

2. Inequalities for One Operator

We start with the following lemmas.

Lemma 2.1. Let $(V_j)_{j \in \mathbb{N}}$ be a sequence of bounded linear operators such that $V_j V_k = V_k V_j$ for any $j, k \in \mathbb{N}$. Then for any $m \in \mathbb{N}$, $m \geq 1$ we have

$$r\left(\sum_{j=0}^m V_j\right) \leq \sum_{j=0}^m r(V_j). \quad (11)$$

Proof. By induction over m .

If $m = 1$, the inequality follows by (5).

Assume that (11) is true for $m > 1$. Since the operators $\sum_{j=0}^m V_j$ and V_{m+1} are commutative, then by (5) we also have

$$\begin{aligned} r\left(\sum_{j=0}^{m+1} V_j\right) &= r\left(\sum_{j=0}^m V_j + V_{m+1}\right) \leq r\left(\sum_{j=0}^m V_j\right) + r(V_{m+1}) \\ &\leq \sum_{j=0}^m r(V_j) + r(V_{m+1}) = \sum_{j=0}^{m+1} r(V_j), \end{aligned}$$

where for the last inequality we used the induction hypothesis.

This proves the inequality (11) for any $m \geq 1$. \square

Lemma 2.2. If $V, S \in B(H)$ are commutative then the following continuity property holds

$$|r(V) - r(S)| \leq r(V - S). \quad (12)$$

Proof. Since $V - S$ and S are commutative, then by (5) we have

$$r(V) = r(V - S + S) \leq r(V - S) + r(S)$$

giving that

$$r(V) - r(S) \leq r(V - S). \quad (13)$$

From (2) we have that $r(-T) = r(T)$ for any operator T .

Since the operators $S - V$ and V also commute, then

$$r(S) \leq r(S - V) + r(V)$$

showing that

$$r(S) - r(V) \leq r(S - V) = r(V - S)$$

or, equivalently

$$-r(V - S) \leq r(V) - r(S). \quad (14)$$

Utilising (13) and (14) we obtain (12). \square

Lemma 2.3. Let $(V_j)_{j \in \mathbb{N}} \subset B(H)$ and $V \in B(H)$. If $V_n \rightarrow V$ in $B(H)$ and $V_j V = V V_j$ for any $j \in \mathbb{N}$, then $\lim_{n \rightarrow \infty} r(V_n) = r(V)$.

Proof. Utilising (12) and (2) we have

$$|r(V_n) - r(V)| \leq r(V_n - V) \leq \|V_n - V\|$$

for any $n \in \mathbb{N}$ which produces the desired result. \square

For power series $f(z) = \sum_{n=0}^{\infty} a_n z^n$ with complex coefficients we can naturally construct another power series which have as coefficients the absolute values of the coefficient of the original series, namely, $f_a(z) := \sum_{n=0}^{\infty} |a_n| z^n$. It is obvious that this new power series have the same radius of convergence as the original series, and that if all coefficients $a_n \geq 0$, then $f_a = f$.

We can state and prove now our first result:

Theorem 2.4. *Let $f(z) = \sum_{n=0}^{\infty} a_n z^n$ be a power series with complex coefficients and convergent on the open disk $D(0, R) \subset \mathbb{C}$, $R > 0$. If $T \in B(H)$ with $\|T\| < R$, then*

$$r[f(T)] \leq f_a(r(T)). \quad (15)$$

Proof. Let $m \geq 1$ and define $V_j := a_j T^j$ for $j \in \{0, \dots, m\}$. We observe that $V_j V_k = V_k V_j$ for any $j, k \in \{0, \dots, m\}$ and by Lemma 2.1 we then have

$$\begin{aligned} r\left(\sum_{j=0}^m a_j T^j\right) &\leq \sum_{j=0}^m r(a_j T^j) = \sum_{j=0}^m |a_j| r(T^j) \\ &= \sum_{j=0}^m |a_j| r^j(T), \end{aligned} \quad (16)$$

where for the last equality we used the property (3).

Now, consider the sequence $V_m := \sum_{j=0}^m a_j T^j$. Since $\|T\| < R$ it follows that $V_m \rightarrow f(T)$ in $B(H)$. Also, since $f(T)$ commutes with each of the $a_j T^j$ it follows that $f(T)$ also commutes with V_m and by Lemma 2.3 we have that

$$\lim_{m \rightarrow \infty} r\left(\sum_{j=0}^m a_j T^j\right) = r\left(\sum_{j=0}^{\infty} a_j T^j\right) = r[f(T)].$$

Therefore, by taking the limit over $m \rightarrow \infty$ and taking into account the fact that $\sum_{j=0}^{\infty} |a_j| r^j(T)$ is convergent since $r(T) \leq \|T\| < R$, we deduce the desired result (15). \square

Corollary 2.5. *Let $f(z) = \sum_{n=0}^{\infty} a_n z^n$ be a power series with nonnegative coefficients and convergent on the open disk $D(0, R) \subset \mathbb{C}$, $R > 0$. If $T \in B(H)$ with $\|T\| < R$, then*

$$r[f(T)] \leq f(r(T)). \quad (17)$$

3. Inequalities for Two Commuting Operators

We can consider now the case of two operators.

Theorem 3.1. *Let $f(z) = \sum_{n=0}^{\infty} a_n z^n$ be a power series with complex coefficients and convergent on the open disk $D(0, R) \subset \mathbb{C}$, $R > 0$. If $A, B \in B(H)$ are commutative and for $p > 1$, $\frac{1}{p} + \frac{1}{q} = 1$*

$$\|A\|^p, \|B\|^q < R, \quad (18)$$

then we have

$$r[f(AB)] \leq \min\{L_1, L_2\} \quad (19)$$

where

$$L_1 := f_a^{1/p}(r^p(A)) f_a^{1/q}(r^q(B))$$

and

$$L_2 := \frac{f_a(r^p(A)) f_a(r^q(B))}{f_a(r^{p-1}(A)) r^{q-1}(B)}.$$

In particular, if $\|A\|^2, \|B\|^2 < R$, then

$$r^2 [f(AB)] \leq f_a(r^2(A)) f_a(r^2(B)). \quad (20)$$

Proof. Let $m \geq 1$ and write the inequality (16) for $T = AB$ to get

$$r \left(\sum_{j=0}^m a_j (AB)^j \right) \leq \sum_{j=0}^m |a_j| r^j (AB). \quad (21)$$

Since A and B are commutative, then by (6) we also have

$$\sum_{j=0}^m |a_j| r^j (AB) \leq \sum_{j=0}^m |a_j| r^j (A) r^j (B) \quad (22)$$

for any $m \geq 1$.

Now, by Hölder's weighted inequality we have

$$\sum_{j=0}^m |a_j| r^j (A) r^j (B) \leq \left(\sum_{j=0}^m |a_j| r^{jp} (A) \right)^{1/p} \left(\sum_{j=0}^m |a_j| r^{jq} (B) \right)^{1/q} \quad (23)$$

for any $m \geq 1$.

Utilising (21)-(23) we have

$$r \left(\sum_{j=0}^m a_j (AB)^j \right) \leq \left(\sum_{j=0}^m |a_j| r^{jp} (A) \right)^{1/p} \left(\sum_{j=0}^m |a_j| r^{jq} (B) \right)^{1/q} \quad (24)$$

for any $m \geq 1$.

From the condition (18) we observe that the series whose partial sums are involved in the inequality (24) are convergent and by letting $m \rightarrow \infty$ in (24) we obtain the first inequality in (19).

Further, by utilizing the following Hölder's type inequality obtained by Dragomir and Sándor in 1990 [2] (see also [1, Corollary 2.34]):

$$\sum_{k=0}^n m_k |x_k|^p \sum_{k=0}^n m_k |y_k|^q \geq \sum_{k=0}^n m_k |x_k y_k| \sum_{k=0}^n m_k |x_k|^{p-1} |y_k|^{q-1}, \quad (25)$$

that holds for nonnegative numbers m_k and complex numbers x_k, y_k where $k \in \{0, \dots, n\}$, we observe that the convergence of the series $\sum_{k=0}^{\infty} m_k |x_k|^p$ and $\sum_{k=0}^{\infty} m_k |y_k|^q$ imply the convergence of the series $\sum_{k=0}^{\infty} m_k |x_k|^{p-1} |y_k|^{q-1}$.

On applying the inequality (25) we also have

$$\sum_{j=0}^m |a_j| r^j (A) r^j (B) \leq \frac{\sum_{j=0}^m |a_j| r^{jp} (A) \sum_{j=0}^m |a_j| r^{jq} (B)}{\sum_{j=0}^m |a_j| r^{j(p-1)} (A) r^{j(q-1)} (B)} \quad (26)$$

for any $m \geq 1$.

Utilising (21)-(22) and (26) we get

$$r \left(\sum_{j=0}^m a_j (AB)^j \right) \leq \frac{\sum_{j=0}^m |a_j| r^{jp} (A) \sum_{j=0}^m |a_j| r^{jq} (B)}{\sum_{j=0}^m |a_j| r^{j(p-1)} (A) r^{j(q-1)} (B)} \quad (27)$$

for any $m \geq 1$.

Since all the series whose partial sums are involved in the inequality (27) are convergent, then by letting $m \rightarrow \infty$ in (27) we obtain the second part of (19). \square

Remark 3.2. If the power series $f(z) = \sum_{n=0}^{\infty} a_n z^n$ has nonnegative coefficients, then f_a in the inequalities (19) and (20) may be replaced with f .

From a different perspective, we also have

Theorem 3.3. Let $f(z) = \sum_{n=0}^{\infty} a_n z^n$ be a power series with complex coefficients and convergent on the open disk $D(0, R) \subset \mathbb{C}$, $R > 0$. If $A, B \in B(H)$ are commutative and $\|A\|^2, \|B\|^2 < R$, then

$$\begin{aligned} r[f(AB)] &\leq \frac{1}{2} \left[f_a(\|AB\|) + f_a\left(\|A^2\|^{1/2} \|B^2\|^{1/2}\right) \right] \\ &\leq \frac{1}{2} \left[f_a(\|AB\|) + f_a^{1/2}(\|A^2\|) f_a^{1/2}(\|B^2\|) \right] \end{aligned} \quad (28)$$

and

$$\begin{aligned} r[f(AB)] &\leq \frac{1}{2} f_a(\|AB\|) + \frac{1}{2} \min \left\{ f_a\left(\|A\|^{1/2} \|AB^2\|^{1/2}\right), f_a\left(\|A^2 B\|^{1/2} \|B\|^{1/2}\right) \right\} \\ &\leq \frac{1}{2} f_a(\|AB\|) + \frac{1}{2} \min \left\{ f_a^{1/2}(\|A\|) f_a^{1/2}(\|AB^2\|), f_a^{1/2}(\|A^2 B\|) f_a^{1/2}(\|B\|) \right\} \end{aligned} \quad (29)$$

provided also that $\|A\|, \|B\| < R$.

Proof. Since A and B commute, then A^j and B^j commute for each $j \in \mathbb{N}$ and by the inequality (8) and the properties of norms we have

$$\begin{aligned} r((AB)^j) &= r(A^j B^j) \leq \frac{1}{2} \left(\|A^j B^j\| + \|A^{2j}\|^{1/2} \|B^{2j}\|^{1/2} \right) \\ &\leq \frac{1}{2} \left(\|AB\|^j + \|A^2\|^{j/2} \|B^2\|^{j/2} \right) \end{aligned} \quad (30)$$

for each $j \in \mathbb{N}$.

If we multiply (30) by $|a_j|$, sum over j from 0 to $m \geq 1$ and use the weighted Cauchy-Bunyakovsky-Schwarz inequality, we have

$$\begin{aligned} \sum_{j=0}^m |a_j| r((AB)^j) &\leq \frac{1}{2} \left(\sum_{j=0}^m |a_j| \|AB\|^j + \sum_{j=0}^m |a_j| \|A^2\|^{j/2} \|B^2\|^{j/2} \right) \\ &\leq \frac{1}{2} \left(\sum_{j=0}^m |a_j| \|AB\|^j + \left(\sum_{j=0}^m |a_j| \|A^2\|^j \right)^{1/2} \left(\sum_{j=0}^m |a_j| \|B^2\|^j \right)^{1/2} \right) \end{aligned} \quad (31)$$

for any $m \geq 1$.

Now, utilising (21) we can state the following string of inequalities

$$\begin{aligned} & r\left(\sum_{j=0}^m a_j (AB)^j\right) \\ & \leq \frac{1}{2} \left(\sum_{j=0}^m |a_j| \|AB\|^j + \sum_{j=0}^m |a_j| \|A^2\|^{j/2} \|B^2\|^{j/2} \right) \\ & \leq \frac{1}{2} \left(\sum_{j=0}^m |a_j| \|AB\|^j + \left(\sum_{j=0}^m |a_j| \|A^2\|^j \right)^{1/2} \left(\sum_{j=0}^m |a_j| \|B^2\|^j \right)^{1/2} \right) \end{aligned} \quad (32)$$

for any $m \geq 1$.

Since all the series whose partial sums are involved in the inequality (32) are convergent, then by letting $m \rightarrow \infty$ in (32) we obtain the desired inequality (28).

Now, on making use of the first inequality in (10) we have

$$\begin{aligned} & r(A^j B^j) \\ & \leq \frac{1}{2} \left[\|A^j B^j\| + \min \left\{ \|A^j\|^{1/2} \|A^j B^{2j}\|^{1/2}, \|A^{2j} B^j\|^{1/2} \|B^j\|^{1/2} \right\} \right] \\ & \leq \frac{1}{2} \left[\|AB\|^j + \min \left\{ \|A\|^{j/2} \|AB^2\|^{j/2}, \|A^2 B\|^{j/2} \|B\|^{j/2} \right\} \right] \end{aligned} \quad (33)$$

for any $j \in \mathbb{N}$.

Utilising the elementary inequality for nonnegative numbers p_j, c_j, d_j with $j \in \{0, \dots, m\}$, $m \geq 1$

$$\sum_{j=0}^m p_j \min \{c_j, d_j\} \leq \min \left\{ \sum_{j=0}^m p_j c_j, \sum_{j=0}^m p_j d_j \right\},$$

we obtain from (32) by multiplying with $|a_j|$ and summing over $j \in \{0, \dots, m\}$ that

$$\sum_{j=0}^m |a_j| r((AB)^j) \leq \frac{1}{2} \sum_{j=0}^m |a_j| \|AB\|^j + \frac{1}{2} \min \left\{ \sum_{j=0}^m |a_j| \|A\|^{j/2} \|AB^2\|^{j/2}, \sum_{j=0}^m |a_j| \|A^2 B\|^{j/2} \|B\|^{j/2} \right\} \quad (34)$$

for any $m \geq 1$.

Following a similar argument to the one outlined above we get the first inequality in (29).

The second inequality follows by the Cauchy-Bunyakovsky-Schwarz inequality and the details are omitted. \square

Remark 3.4. If $f(z) = \sum_{n=0}^{\infty} a_n z^n$ is a power series with nonnegative coefficients then f_a from the inequalities (28) and (29) may be replaced with f .

Finally, on making use of the inequality

$$r(AB) \leq \frac{1}{2} \|AB\| + \frac{1}{2} \times \begin{cases} \|A\|^{1/2} \|B\|^{1/2} \|AB\|^{1/2} \\ \min \left\{ \|A\| \|B^2\|^{1/2}, \|A^2\|^{1/2} \|B\| \right\} \end{cases} \quad (35)$$

we can also state the result:

Proposition 3.5. Let $f(z) = \sum_{n=0}^{\infty} a_n z^n$ be a power series with complex coefficients and convergent on the open disk $D(0, R) \subset \mathbb{C}$, $R > 0$. If $A, B \in B(H)$ are commutative and $\|A\|^2, \|B\|^2 < R$, then

$$\begin{aligned}
 r[f(AB)] & \leq \frac{1}{2} f_a(\|AB\|) \\
 & + \frac{1}{2} \times \begin{cases} f_a(\|A\|^{1/2} \|B\|^{1/2} \|AB\|^{1/2}) \\ \min \left\{ f_a(\|A\| \|B^2\|^{1/2}), f_a(\|A^2\|^{1/2} \|B\|) \right\} \end{cases} \\
 & \leq \frac{1}{2} f_a(\|AB\|) \\
 & + \frac{1}{2} \times \begin{cases} f_a^{1/2}(\|A\| \|B\|) f_a^{1/2}(\|AB\|) \\ \min \left\{ f_a^{1/2}(\|A\|^2) f_a^{1/2}(\|B^2\|), f_a^{1/2}(\|A^2\|) f_a^{1/2}(\|B\|^2) \right\}. \end{cases}
 \end{aligned} \tag{36}$$

4. Some Examples

As some natural examples that are useful for applications, we can point out that, if

$$\begin{aligned}
 f(z) &= \sum_{n=1}^{\infty} \frac{(-1)^n}{n} z^n = \ln \frac{1}{1+z}, \quad z \in D(0, 1); \\
 g(z) &= \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n)!} z^{2n} = \cos z, \quad z \in \mathbb{C}; \\
 h(z) &= \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} z^{2n+1} = \sin z, \quad z \in \mathbb{C}; \\
 l(z) &= \sum_{n=0}^{\infty} (-1)^n z^n = \frac{1}{1-z}, \quad z \in D(0, 1);
 \end{aligned} \tag{37}$$

then the corresponding functions constructed by the use of the absolute values of the coefficients are

$$\begin{aligned}
 f_a(z) &= \sum_{n=1}^{\infty} \frac{1}{n} z^n = \ln \frac{1}{1-z}, \quad z \in D(0, 1); \\
 g_a(z) &= \sum_{n=0}^{\infty} \frac{1}{(2n)!} z^{2n} = \cosh z, \quad z \in \mathbb{C}; \\
 h_a(z) &= \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} z^{2n+1} = \sinh z, \quad z \in \mathbb{C}; \\
 l_a(z) &= \sum_{n=0}^{\infty} z^n = \frac{1}{1-z}, \quad z \in D(0, 1).
 \end{aligned} \tag{38}$$

Other important examples of functions as power series representations with nonnegative coefficients are:

$$\begin{aligned}
 \exp(z) &= \sum_{n=0}^{\infty} \frac{1}{n!} z^n \quad z \in \mathbb{C}, \\
 \frac{1}{2} \ln\left(\frac{1+z}{1-z}\right) &= \sum_{n=1}^{\infty} \frac{1}{2n-1} z^{2n-1}, \quad z \in D(0,1); \\
 \sin^{-1}(z) &= \sum_{n=0}^{\infty} \frac{\Gamma\left(n + \frac{1}{2}\right)}{\sqrt{\pi}(2n+1)n!} z^{2n+1}, \quad z \in D(0,1); \\
 \tanh^{-1}(z) &= \sum_{n=1}^{\infty} \frac{1}{2n-1} z^{2n-1}, \quad z \in D(0,1) \\
 {}_2F_1(\alpha, \beta, \gamma, z) &= \sum_{n=0}^{\infty} \frac{\Gamma(n+\alpha)\Gamma(n+\beta)\Gamma(\gamma)}{n!\Gamma(\alpha)\Gamma(\beta)\Gamma(n+\gamma)} z^n, \alpha, \beta, \gamma > 0, \\
 & z \in D(0,1);
 \end{aligned} \tag{39}$$

where Γ is Gamma function.

If $T \in B(H)$ with $\|T\| < 1$, then by (15) we have the inequalities

$$r[(I \pm T)^{-1}] \leq [1 - r(T)]^{-1},$$

$$r[\ln(I \pm T)^{-1}] \leq \ln[1 - r(T)]^{-1},$$

$$r[\sin^{-1}(T)] \leq \sin^{-1}[r(T)]$$

and

$$r[{}_2F_1(\alpha, \beta, \gamma, T)] \leq {}_2F_1(\alpha, \beta, \gamma, r(T)).$$

If $T \in B(H)$, then by the same inequality we have

$$r[\exp(T)] \leq \exp[r(T)],$$

$$r[\sin(T)], r[\sinh(T)] \leq \sinh(r(T))$$

and

$$r[\cos(T)], r[\cosh(T)] \leq \cosh(r(T)).$$

If $A, B \in B(H)$ are commutative and $\|A\|, \|B\| < 1$, then by the inequality (19) we have

$$r[(I \pm AB)^{-1}] \leq \begin{cases} (1 - r^p(A))^{-1/p} (1 - r^q(B))^{-1/q}, \\ \frac{(1 - r^p(A))^{-1} (1 - r^q(B))^{-1}}{(1 - r^{p-1}(A) r^{q-1}(B))^{-1}}, \end{cases}$$

where $p > 1$, $\frac{1}{p} + \frac{1}{q} = 1$, and by the inequalities (28), (29) and (36) we have

$$r[(I \pm AB)^{-1}] \leq \frac{1}{2} (1 - \|AB\|)^{-1} + \frac{1}{2} \times \begin{cases} \left(1 - \|A^2\|^{1/2} \|B^2\|^{1/2}\right)^{-1}, \\ \min \left\{ \left(1 - \|A\|^{1/2} \|AB^2\|^{1/2}\right)^{-1}, \left(1 - \|A^2B\|^{1/2} \|B\|^{1/2}\right)^{-1} \right\}, \\ \left(1 - \|A\|^{1/2} \|B\|^{1/2} \|AB\|^{1/2}\right)^{-1}, \\ \min \left\{ \left(1 - \|A\| \|B^2\|^{1/2}\right)^{-1}, \left(1 - \|A^2\|^{1/2} \|B\|\right)^{-1} \right\}. \end{cases}$$

By the same inequalities, if $A, B \in B(H)$ are commutative, then

$$r[\exp(AB)] \leq \begin{cases} \exp\left[\frac{1}{p}r^p(A) + \frac{1}{q}r^q(B)\right], \\ \exp\left[r^p(A) + r^q(B) - r^{p-1}(A)r^{q-1}(B)\right], \end{cases}$$

where $p > 1$, $\frac{1}{p} + \frac{1}{q} = 1$, and

$$r[\exp(AB)] \leq \frac{1}{2} \exp(\|AB\|) + \frac{1}{2} \times \begin{cases} \exp\left(\|A^2\|^{1/2} \|B^2\|^{1/2}\right), \\ \exp\left[\min\left\{\|A\|^{1/2} \|AB^2\|^{1/2}, \|A^2B\|^{1/2} \|B\|^{1/2}\right\}\right], \\ \exp\left(\|A\|^{1/2} \|B\|^{1/2} \|AB\|^{1/2}\right), \\ \exp\left[\min\left\{\|A\| \|B^2\|^{1/2}, \|A^2\|^{1/2} \|B\|\right\}\right]. \end{cases}$$

References

- [1] S.S. Dragomir, A survey on Cauchy-Bunyakovsky-Schwarz type discrete inequality, *J. Ineq. Pure & Appl. Math.* 4 (2003), No. 3, Art. 63, pp. 142. [Online <http://www.emis.de/journals/JIPAM/article301.html?sid=301>]
- [2] S.S. Dragomir, J. Sándor, Some generalisations of Cauchy-Buniakowski-Schwartz's inequality (Romanian), *Gaz. Mat. Metod. (Bucharest)*, 11 (1990) 104–109.
- [3] P.R. Halmos, *A Hilbert Space Problem Book*, 2nd ed., Springer-Verlag, New York, 1982.
- [4] F. Kittaneh, Spectral radius inequalities for Hilbert space operators, *Proc. Amer. Math. Soc.* 134 (2006) 385–390.
- [5] C.S. Lin, S.S. Dragomir, On high-power operator inequalities and spectral radii of operators, *Publ. Res. Inst. Math. Sci.* 42 (2) (2006) 391–397.
- [6] W.E. Longstaff, H. Radjavi, On permutability and submultiplicativity of spectral radius, *Canad. J. Math.* 47 (5) (1995) 1007–1022.
- [7] G.J. Murphy, Continuity of the spectrum and spectral radius, *Proc. Amer. Math. Soc.* 82 (4) (1981) 619–621.
- [8] V. Müller, A. Soltysiak, Spectral radius formula for commuting Hilbert space operators, *Studia Math.* 103 (3) (1992) 329–333.
- [9] V. Pták, A lower bound for the spectral radius, *Proc. Amer. Math. Soc.* 80 (3) (1980) 435–440.
- [10] V. Pták, N.J. Young, Functions of operators and the spectral radius, *Linear Algebra Appl.* 29 (1980) 357–392.
- [11] H. Radjavi, P. Rosenthal, On submultiplicativity of spectral radius and transitivity of semigroups, *Proc. Amer. Math. Soc.* 135 (1) (2007) 163–168.
- [12] V. Rakočević, Spectral radius formulae in quotient C^* -algebras, *Proc. Amer. Math. Soc.* 113 (4) (1991) 1039–1040.
- [13] T.Y. Tam, λ -Aluthge iteration and spectral radius, *Integral Equations Operator Theory* 60 (4) (2008) 591–596.
- [14] T. Yamazaki, An expression of spectral radius via Aluthge transformation, *Proc. Amer. Math. Soc.* 130 (4) (2002) 1131–1137.